Listening Juice Junior 3
Final Test

1~5. Choose the correct word for each blank.     

	p.67  Listen Harder  CD#2 track # 


Both the United States and Canada are immigrant countries. That means that the majority of their population came from abroad. Settlers from Europe came to North America for many reasons - to 1.            war, famine, or just to start a new life and get new opportunities. Nowadays, people from all over the world - Asia, Africa, South America, India and the Middle Ease - come to find a new life in North America. Laws in North America put fewer restrictions on what immigrants can do. They can 2.            land, become citizens and enjoy all the same rights and privileges as the native people. But Canada and the United States 3.            in one key area. Canada features a 'mosaic' style of integration - immigrants are free to speak their own language, practice their own 4.            and retain their own culture. The United States uses a 'melting pot' style of integration - immigrants are educated only in English, and are strongly pushed to 5.
             American fashions, education and occupations.
1. explain / except / escape

2. know / own / grow 

3. differ / deeper / deter 

4. reason / religion / relation 

5. adopt / admit / about

6~10. Choose the correct word for each blank.  

	p.73  Listen Harder  CD#2 track # 


The United Nations celebrates Earth Day each year on the vernal equinox (around March 21st). On an equinox, night and day are in 6.            length everywhere in the world. A perfectly vertical pole standing on the equator at noon during equinox will not 7.
            a shadow. Earth Day began at a UNESCO Conference on the Environment in 1969. Another Earth Day is celebrated on April 22nd. Both Earth Days are supposed to remind everyone about the environment and the world in which we live. Cities hold 8. 
           clean-up or tree-planting events. For a long time, Earth Day lost its popularity, but in the 1980s, the global 9.            phenomenon reminded everyone again of the importance of the environment, and Earth Day had 10.            some popularity.
6. quarter / equal / quietly 

7. past / test / cast

8. garbage / garage / global

9. warming / warning / burning

10. regarded / regained / agreed

11~12. Choose T for True of F for false.

	p.38  Today's News   CD#1 track # 


11. Grown ups do not go out trick-or-treating.                                               

T □ F □

12. They have a contest to see who dresses up in the scariest costumes. 

T □ F □

13~14. Choose T for True of F for false.

	p.50 Today's News   CD#2 track # 


13. The characters in slacker films are bored and undereducated. 

T □ F □

14. Slacker films are not popular anymore. 

T □ F □

15~17. Listen and choose the correct answers. 

15. Which is the incorrect information about the phone message?

	p.9  Unit Test  CD#1 track # Part 1 

	p.9  Unit Test Part 1 picture 


①                 ②                 ③                 ④                 ⑤

16. What are the speakers talking about?

	p.45  Unit Test  CD#2 track # Part 1 

	p.45  Unit Test Part 1 picture 


①                 ②                 ③                 ④                 ⑤

17. Which of the following is correct?

	p.63  Unit Test  CD#2 track # Part 1 

	p.63  Unit Test Part 1 picture


①                 ②                 ③                 ④                 ⑤

18~19. Listen to the dialogue and choose the correct answers you hear. 

	p.9  Unit Test  CD#1 track # Part 2 


18. Where did the dialogue take place?

①                 ②                 ③                 ④                 ⑤

19. What is the correct response of the man?

①                 ②                 ③                 ④                 ⑤

20~21. Listen to the dialogue and choose the correct answers you hear. 

	p.57  Unit Test  CD#2 track # Part 2 


20. What is the correct response?

①                 ②                 ③                 ④                 ⑤

21. What does the caller decide to do?

①                 ②                 ③                 ④                 ⑤

22~23. Listen to the passage and choose the correct answers. 

	p.27  Unit Test  CD#1 track # Part 3 


22. Which of the following people can be included in the passage?

① Alexander Graham Bell - the inventor of the telephone for hearing impaired people

② Mother Teresa - a nun who helped poor people in India

③ Ray Charles - a famous American musician who became blind at the age of seven

④ Elizabeth Taylor - a famous American actress who had several surgeries

⑤ Bill Gates - president of Microsoft who used to be considered a nerd

23. Which of the following is correct about the people in the passage?

① Christy Brown became famous because he could move his left foot. 

② Stephen Hawking invented his own wheelchair. 

③ Beethoven stopped writing symphonies after he became deaf. 

④ Christy Brown was physically challenged. 

⑤ Stephen Hawking is considered one of the most brilliant mathematicians. 

24~25. Listen to the passage and choose the correct answers. 

	p.51  Unit Test  CD#2 track # Part 3 


24. What is a good title for this passage?

① Today's Marketing Techniques

② The Trouble with Teenagers

③ How to be a Fashion Model 

④ Teenagers: the New Trendsetters

⑤ Some of the Latest Fashion Trends

25. Which of the following is correct about the fashion industry?

① Companies often hire teenagers as fashion consultants. 

② The fashion industry only focuses on the fashion trends of teenagers.

③ Companies invest a lot of money to find out the newest fashion trends.

④ Companies spend millions of dollars to keep teenagers innovative. 

⑤ Teenagers become company executive officers to lead the trend. 

Answers: 1. escape   2. own   3. differ   4. religion   5. adopt   6. equal   7. cast   8. garbage   9. warming   10. regained   11. F   12. F   13. F   14. T   15. ③   16. ④   17. ⑤   18. ②   19. ②   20. ③   21. ④   22. ③   23. ④   24. ④   25. ③

